Friends some answer keys are wrong given by the UGC.

Paper-I (Series – X)
Question No. 29.  Select the correct answer from the code given below: 
 i. Rajasthan receives the highest solar radiation in the country. 
 ii. India has the fifth largest installed wind power in the world. 
 iii. The maximum amount of wind power is contributed by Tamil Nadu. 
 iv. The primary source of uranium in India is Jaduguda. 
Codes: 
(A) i and ii   (B) i, ii and iii 
(C) ii and iii (D) i and iv

i. Rajasthan receives the highest solar radiation in the country.
http://www.eai.in/club/users/krupali/blogs/627 
http://www.idfoi.org/Document/Theme_Solar_Energy.pdf 
http://mnre.gov.in/file-manager/UserFiles/solar_radiant_energy_over_India.pdf 
http://www.omsunpower.com/why_solar_energy.html 
http://www.rrecl.com/PDF/Success%20in%20Scaling-up%20Solar%20Energy%20in%20Rajasthan,%20India.pdf  

ii. India has the fifth largest installed wind power in the world.
http://en.wikipedia.org/wiki/Wind_power_in_India  
http://en.wikipedia.org/wiki/Renewable_energy_in_India 
http://en.wikipedia.org/wiki/Wind_power_by_country 
http://books.google.co.in/books?id=RUqXHr3WjOIC&pg=PA36&lpg=PA36&dq=india+has+the+fifth+largest+installed+wind+power+in+the+world&source=bl&ots=IhgZs7RgKj&sig=TCrKXsZnTqrrnyAUfTmhv5mZ4wY&hl=en&sa=X&ei=OyloVJHaBsLhuQSf34KQBA&sqi=2&ved=0CE4Q6AEwBg#v=onepage&q=india%20has%20the%20fifth%20largest%20installed%20wind%20power%20in%20the%20world&f=false 
http://books.google.co.in/books?id=A_FILXPGpnsC&pg=PA1112&lpg=PA1112&dq=india+has+the+fifth+largest+installed+wind+power+in+the+world&source=bl&ots=N96KdUgpDb&sig=Oz0GODa2i0T1KtuTbC-yZJn3OpE&hl=en&sa=X&ei=OyloVJHaBsLhuQSf34KQBA&sqi=2&ved=0CFsQ6AEwCQ#v=onepage&q=india%20has%20the%20fifth%20largest%20installed%20wind%20power%20in%20the%20world&f=false 

iii. The maximum amount of wind power is contributed by Tamil Nadu. 
http://en.wikipedia.org/wiki/Wind_power_in_India 
http://greencleanguide.com/2013/12/21/top-five-states-in-india-with-highest-renewable-energy-capacity/ 
http://mnre.gov.in/file-manager/UserFiles/presentation-01082012/Presentation%20on%20Wind%20Power%20Scenario%20in%20Tamil%20Nadu%20by%20Shri%20Rajeev%20Ranjan,%20Chairman,%20TNEB.pdf 

iv. The primary source of uranium in India is Jaduguda. 
http://eprints.nmlindia.org/2422/1/090.pdf  
http://www.ucil.gov.in/web/Papers-Sarangi/VEIN%20TYPE%20U%20MINERALISATION%20at%20Jaduguda,%20INDIA%20_Extended%20ABSTRACT_.pdf 
http://en.wikipedia.org/wiki/Uranium_Corporation_of_India 
http://en.wikipedia.org/wiki/Jaduguda_Uranium_Mine 
http://cns.miis.edu/archive/country_india/nucfacil/jaduguda.htm 

NOTE: Here UGC give the right answer is Code: (D)
But see all the statements are correct so the right answer is all the above, that is not given by UGC in answer key. So marks of this question is give to all the candidates.

Question No. 36 Classroom communication is normally considered as 
(A) effective           (B) cognitive 
(C) affective           (D) selective
Here UGC give the updated answer key is Answer (C) Affective

Please see the September 2013 Question paper. In Paper - I (Series - X)
Question No. 36. Classroom communication is normally considered as 
(A) effective             (B) affective 
(C) cognitive            (D) non-selective
updated answer given by the UGC is answer is (C) Cognitive
But in June 2014 same Question is repeated by UGC Paper - I (Series - X) and answer given by UGC option         (C) Affective. So as earlier answer given by UGC the right answer of June 2014 is option (B) Cognitive. Please see the links.
 http://www.ugcnetonline.in/question_papers/June2014_paper-I/J-00-14...
http://ugcnetonline.in/question_papers/June2013_paper-I_08092013/X-...

Paper-II
Question no. 25 Arrange the following in the chronological order of their first year of publication 
 (i) Arts and Humanities Index 	1975
 (ii) Social Science Citation Index 	1956
 (iii) ISI Web of Science 		1960
 (iv) Science Citation Index 	1965
Codes : 
 (A) (iv), (ii), (i), (iii) 	 (B) (ii), (iii), (iv), (i) 
 (C) (iii), (ii), (i), (iv) 	 (D) (iv), (i), (iii), (ii)
 http://en.wikipedia.org/wiki/Arts_and_Humanities_Citation_Index  
http://en.wikipedia.org/wiki/Science_Citation_Index 
http://wokinfo.com/sci-anniversary.html 
http://adat.crl.edu/platforms/about/isi_web_of_knowledge 
http://www.dlib.org/dlib/september99/atkins/09atkins.html 
UGC give the right answer is Code: (A) But I think the right answer series is (B) (ii), (iii), (iv), (i)

Question no. 38. Assertion (A) : Intellectual Property Rights facilitate free flow of information. 
Reason (R) : Effective free flow of information is the pre-requisite for knowledge society. 
 Codes : 
(A) (A) is true, but (R) is false. 	 (B) (A) is false, but (R) is true. 
(C) Both (A) and (R) are true. 	 (D) Both (A) and (R) are false.
http://www.theglobalipcenter.com/resources/why-is-ip-important/ 
Please see Heading 5 second line
But UGC given the option is (A) is false. In above link (A) is true, so both (A) and ® are true is write answer.

Paper-III
Question no. 8 What is the relationship between ISBD and cataloguing codes ? 
 (A) They are not related to each other 
 (B) ISBD includes cataloguing rules 
 (C) ISBD can replace cataloguing rules 
 (D) Anglo-American codes include bibliographic description
http://valadilip.blogspot.in/2009/11/net-exam-library-and-information.html 
Please see NET June 2000 Paper-II question no. 3

http://books.google.co.in/books?id=R9xqz2BGYAQC&pg=PA79&lpg=PA79&dq=what+is+the+relationship+between+isbd+and+cataloguing+codes&source=bl&ots=b_R0LupGai&sig=wtY0Li4hWjmIshScrxaWzF0oZVI&hl=en&sa=X&ei=J05oVIi2JIqcugTmuoDYCw&ved=0CFcQ6AEwCQ#v=onepage&q=what%20is%20the%20relationship%20between%20isbd%20and%20cataloguing%20codes&f=false 
please see the question no. 126 page no. 79
UGC give the answer option (D) Anglo-American codes include bibliographic description, But I think right answer is (B) ISBD includes cataloguing rules

Question no. 9. Who first used the phrase ‘Bibliographical Control’ ? 
 (A) Paul Otlet 		 (B) Henry La Fontaine 
 (C) Luther Evans 	 (D) Konrad Gesner
http://www.jstor.org/stable/4306826?seq=1 
http://www.britannica.com/EBchecked/topic/232042/Conrad-Gesner 
UGC give the answer option (C) Luther Evans, But I think right answer is (D) Konrad Gesner

Question no. 27. Which of the following source(s) you refer to get information on old name for ‘Zaire’ ? 
 i. Encyclopaedias 	 ii. Yearbooks 
 iii. Gazetteers 		 iv. Directories 
Codes : 
(A) (i) and (ii) are correct. 		 (B) (i), (ii) and (iii) are correct. 
 (C) (i) and (iii) are correct. 	 (D) (ii), (iii) and (iv) are correct.
http://books.google.co.in/books?id=D0lCFwj1-JIC&pg=PA15&lpg=PA15&dq=zaire+in+year+book&source=bl&ots=opKLQQPaVg&sig=kBLARDft6kAQuTupVeVUXDKC1DI&hl=en&sa=X&ei=jl5oVK2FLMeFuwTHzIFo&ved=0CC0Q6AEwAg#v=onepage&q=zaire%20in%20year%20book&f=false 
http://books.google.co.in/books?id=iVd1jaPmtl0C&pg=PA49&lpg=PA49&dq=zaire+in+year+book&source=bl&ots=wSIioxweZO&sig=8rwwQ4fcM9rMURVL-GEqM5p_AOM&hl=en&sa=X&ei=jl5oVK2FLMeFuwTHzIFo&ved=0CDAQ6AEwAw#v=onepage&q=zaire%20in%20year%20book&f=false  
http://books.google.co.in/books?id=XLvU9lroRuUC&pg=PA1226&lpg=PA1226&dq=zaire+in+year+book&source=bl&ots=FJTBRx76Jd&sig=xXb0hpKydStXG-mRzpS3xEe7f8k&hl=en&sa=X&ei=jl5oVK2FLMeFuwTHzIFo&ved=0CDIQ6AEwBA#v=onepage&q=zaire%20in%20year%20book&f=false 
UGC give the answer option (C) (i) and (iii) are correct, But I think right answer is (B) (i), (ii) and (iii) are correct
